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void timeAdd(int *hourl, int *minutel, int *second1l, int hour2, int minute2, int second?2);
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int maln(){
int hl, ml, s1, h2, m2, s2;
h1=3;ml1=18;s1=22;h2=5m2=22;s2=7,
printf("%d | Fij %d 55 %d FpEf - %d | Fi‘]‘ %d 55 & %d FJ4#\n", hl, m1, s1, h2, m2, s2);
timeAdd(...);
printf("\Gii N EH %d 7| H] %d 53 & %d Fp&f - \n", hl, m1, s1);
hl1=3;m1=48;s1=32;h2=5m2=22;s2 =57,
printf("%d ']*Eij %d 534 %d Fif - %d 'J‘E?f %d Ji%# %d Fi&f\n", hl, m1, s1, h2, m2, s2);
timeAdd(...);
printf("\Gif N 5 %d /| Fij %d 535 %d FJ4# - \n", h1, m1, s1);
hl=3; ml1=288;s1=92;h2=5m2=122;s2= 257
printf("%d | Hﬂj %d 554 %d FpEf i %d | Hﬁ %d 57 & %d FJE\n", hl, m1, s1, h2, m2, s2);

timeAdd(...);
printf("\tifi N EH° %d ']*EJJ* %d 53 %d FEf - \n", hl, m1, s1);
return O;
}
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03:18:22 + 05:22:07 = 08:40:29 zg’,@ﬂéﬁ?jﬁﬁ‘l}f[ﬁ' ALE
03:48:32 + 05:22:57 = 08:70:89 => 09:11:29 [ FJ& 5 £ 55 F| Z{|[5
03:88:92 + 05:122:257 = 08:210:349 => 11:35:49 [f| Hpus&ib k]
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a. [@ffli void fun(int in, const double inArray[])
[ L l’. int x=10; double y[]-{l 1,2.2,3.3} fun(x y);
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b. i f#H#~void fun(int *inout, double inoutArray[])
[ L l’. int x=10; double y[]={1.1, 2.2, 3.3}; fun(&x, y);
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void timeAdd(int *hourl, int *minutel, int *second1l,
int hour2, int minute2, int second?2);
EpA@geRs (*hourl, *minutel, *secondl) i a7 ]ﬁﬁff =4 fif
(hour2, minute2, second2) %5y ffi [t wvgﬁj
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int scores[100];
SR S O,
double average;
average = calculateAverage(scores, nScores);
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writeFile(scores, nScores);
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double calculateAverage(const int scores[], int nScores);
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